

نام و نام خانوادگی پریمیا (ن) پاسخنامه تشریحی تکلیف شماره ۱.۲ کلاس ۲ هجری

۱) از آنجا که ~~مجموعه~~ صفرها در پیش قبیل آن را حساب می‌کنیم!

$$1! + 3! + 5! + 7! = 34$$

(34)

$$1 + 9 + 2 + 24$$

$$\left. \begin{array}{l} 1! + 3! \rightarrow 1 + 9 = 10 \\ 2! + 4! \rightarrow 2 + 24 = 26 \end{array} \right\} \rightarrow \text{پایین} = 10 \times 26 = 260 \rightarrow \text{پایین} = 2$$

الف) $\frac{\sqrt{1+\sqrt{5}}}{\sqrt{4+\sqrt{5}}} \rightarrow \frac{1+\sqrt{5}+2\sqrt{5}}{4+\sqrt{5}} \rightarrow \frac{1+\sqrt{5}}{4+\sqrt{5}} \rightarrow \frac{(\frac{\sqrt{5}+1}{\sqrt{5}+2})}{(\frac{\sqrt{5}-1}{\sqrt{5}-2})} \rightarrow a = \frac{(\sqrt{5}+1)}{\sqrt{5}(\sqrt{5}+2)} = \frac{1}{\sqrt{5}}$

ب) $b^2 = ((3-\sqrt{5}) + (3+\sqrt{5}) - 2\sqrt{4-5}) = 6-2 = 4 \rightarrow b^2 = 4 \rightarrow b = \begin{cases} +\sqrt{2} \\ -\sqrt{2} \end{cases}$

ج) $ab = \frac{1}{\sqrt{5}} \times (-\sqrt{2}) = -\frac{\sqrt{2}}{\sqrt{5}}$

الف) $\frac{2\sqrt{3} + 3\sqrt{3}}{8 - \sqrt{3}} - \frac{2}{\sqrt{3}-1} \rightarrow \frac{5\sqrt{3}-1}{8\sqrt{3}-\sqrt{24}-8+\sqrt{3}} \rightarrow \frac{5\sqrt{3}-1}{8\sqrt{3}-9}$

ب) $\frac{\sqrt{25}-1}{4+\sqrt{3}} + \frac{1}{2-\sqrt{3}} \rightarrow \frac{4\sqrt{3}-2-\sqrt{3}+1}{8-2\sqrt{3}} \rightarrow \frac{3\sqrt{3}-1}{8-2\sqrt{3}} \rightarrow \frac{4\sqrt{3}-9}{28-12} = 11$

الف) $\frac{2\sqrt{3}}{\sqrt{3}-\sqrt{2}} \rightarrow \frac{2\sqrt{3}(\sqrt{3}+\sqrt{2})}{3-2} = 2(\sqrt{3}+\sqrt{2}) = 2\sqrt{3}+2\sqrt{2}$

ب) $\sqrt[3]{2} \times 162 \times 16\sqrt{2} = \sqrt[3]{1024} = 10\sqrt{2}$

الف) $\frac{3^n(1+9+27+81+243)}{2^n(1+2+4+8+16+32)} \rightarrow (\frac{3}{2})^n \times \frac{343}{63} = 82 \rightarrow (\frac{3}{2})^n = \frac{48}{63} = \frac{16}{21}$

ب) $1+3+3^2+\dots+3^9 \rightarrow q=3, a=1 \rightarrow S_n = a_1 \frac{(1-q^n)}{1-q} \rightarrow S_n = 1 \times \frac{(1-3^{10})}{1-3} = 344$

ج) $1+2+2^2+\dots+2^9 \rightarrow q=2, a=1 \rightarrow S_n = 1 \times \frac{(1-2^{10})}{(1-2)} = 1023$

$$\frac{3^9(1+3+3^2+\dots+3^9)}{2^9(1+2+2^2+\dots+2^9)} \rightarrow \frac{3^9(343)}{2^9 \times 1023} = 82 \rightarrow (\frac{3}{2})^9 \times \frac{343}{1023} = 82 \rightarrow (\frac{3}{2})^9 = \frac{4}{3} \rightarrow a=2$$

$$(a-b)^r (a+b)^r = (a^2 - b^2)^r = (\sqrt{b^2-r} - \sqrt{b^2+r})^r = (\sqrt{b^2-r} + \sqrt{b^2+r} - 2\sqrt{(b^2-r)(b^2+r)})^r =$$

$$(r\sqrt{b^2-r} - r\sqrt{b^2+r})^r = r^r (r + r - 2\sqrt{b^2+r}) = r^r (2 - 2\sqrt{b^2+r}) = 14(r - \sqrt{b^2+r}) \rightarrow t = 14$$

$$(a-b)^r (a+b)^r = ((a-b)(a+b))^r (a^2 - b^2)^r = a^r + b^r - 2a^r b^r =$$

$$\sqrt{b^2-r} - r + \sqrt{b^2+r} - r - 2(\sqrt{b^2-r})^r (\sqrt{b^2+r})^r = 2\sqrt{b^2-r} - 2\sqrt{(b^2-r)(b^2+r)} \quad (1)$$

$$\sqrt{(b^2-r)} = r(2 - \sqrt{b^2+r}) \quad \sqrt{b^2-r} - r = \sqrt{(b^2-r)(b^2+r)} = 2\sqrt{b^2-r} - 2\sqrt{b^2+r} =$$

$$2(\sqrt{b^2-r} - \sqrt{b^2+r}) = r(2 - \sqrt{b^2+r}) \quad r = \frac{2(\sqrt{b^2-r} - \sqrt{b^2+r})}{2 - \sqrt{b^2+r}} = \frac{2(\sqrt{b^2-r} - \sqrt{b^2+r})}{2 - \sqrt{b^2+r}}$$

$$\frac{2\sqrt{b^2-r}(\sqrt{b^2+r} - 1)}{2 - \sqrt{b^2+r}} \quad (a + \frac{1}{a})^r = (a^r + \frac{1}{a^r} + r - r)^r = (a^r + \frac{1}{a^r})^r = a^r + \frac{1}{a^r} + r \quad (1)$$

$$(((a + \frac{1}{a}) + \sqrt{r})(a + \frac{1}{a}) - \sqrt{r})^r = r^r \quad r^r = r^r \rightarrow t = r$$

$$((a + \frac{1}{a})^r - r)^r = r^r \quad (a^r + \frac{1}{a^r} + r - r)^r = r^r \quad (a^r + \frac{1}{a^r})^r = r^r$$

$$= \frac{r - r\sqrt{r} + \frac{1}{r - r\sqrt{r}} + r}{r - r\sqrt{r}} = \frac{r - r\sqrt{r} + \frac{1}{r - r\sqrt{r}} + \frac{1}{r - r\sqrt{r}}}{r - r\sqrt{r}} = \frac{r - r\sqrt{r} + \frac{2}{r - r\sqrt{r}}}{r - r\sqrt{r}} = 14$$

$$A = \sqrt[r]{r^r \sqrt[r]{r^r} \sqrt[r]{r^r}} (r)^{\frac{r}{r}} = \sqrt[r]{r^r \times r^r \sqrt[r]{r^r}} (r)^{\frac{r}{r}} = \sqrt[r]{r^r \sqrt[r]{r^r}} (r)^{\frac{r}{r}} =$$

$$\sqrt[r]{r^{\frac{r}{r}} r^{\frac{1}{r}}} (r)^{\frac{r}{r}} = \sqrt[r]{r^{\frac{1}{r}}} (r)^{\frac{r}{r}} = (r)^{\frac{r}{r}} (r)^{\frac{r}{r}} = r^r = r \rightarrow A = r$$

$$(rA)^{-\frac{1}{r}} = (r)^{-\frac{1}{r}} = (\frac{1}{r})^{\frac{1}{r}} = \sqrt[r]{\frac{1}{r}} = \sqrt[r]{\frac{1}{r}} = \left\{ \frac{1}{r} \right\}$$

$$\sqrt{a} = r a^{\frac{1}{r}} \rightarrow a = r^r \times a^{\frac{1}{r}} \rightarrow a^{-1/r} = r^r \rightarrow a^{-1} = r\sqrt{r}$$

$$\frac{r\sqrt{r} - r}{4\sqrt{r}} \rightarrow \frac{r(\sqrt{r} - 1)}{4 + \sqrt{r}} \times \frac{\sqrt{r} + 1}{\sqrt{r} + 1} = \frac{r(\sqrt{r} - 1)(\sqrt{r} + 1)}{4 + \sqrt{r}} = \frac{r(r - 1)}{4 + \sqrt{r}} = r - r\sqrt{r} \quad (1)$$

$$\sqrt{n+a} + \sqrt{n-r} = r + r\sqrt{n-r}$$

$$r + r\sqrt{n-r} - r = r\sqrt{n-r} \quad \checkmark$$

$$(\sqrt{n+a} + \sqrt{n-r})(\sqrt{n+a} - \sqrt{n-r}) = (n+a) - (n-r) = a+r$$

$$\rightarrow \frac{a}{r} + r \leq \frac{a+r}{r}$$

$$\sqrt{n+a} + \sqrt{n-r} = \frac{a}{r} + r \rightarrow \sqrt{n+a} + \sqrt{n-r} - r = \frac{a}{r} + r - r = \frac{a}{r}$$

$$\text{الف) } \frac{\sqrt{1} + \sqrt{17}}{5 - \sqrt{6}} - 2 (\sqrt[4]{9} - 1)^{-1}$$

$$\frac{\sqrt{1} + \sqrt{17}}{5 - \sqrt{6}} = \frac{1\sqrt{1} + 1\sqrt{17}}{5 - \sqrt{6}} \times \frac{5 + \sqrt{6}}{5 + \sqrt{6}} = \frac{1 \cdot 5\sqrt{1} + 1\sqrt{17} + 5\sqrt{6} + 9\sqrt{17}}{19} = \frac{14\sqrt{1} + 14\sqrt{17}}{19} = \sqrt{1} + \sqrt{17}$$

$$(\sqrt[4]{9} - 1)^{-1} = \frac{1}{\sqrt{3} - 1} \times \frac{\sqrt{3} + 1}{\sqrt{3} + 1} = \frac{1}{\sqrt{3} - 1} (\sqrt{3} + 1) \rightarrow (\sqrt{1} + \sqrt{17}) - 2 \left(\frac{1}{\sqrt{3} - 1} (\sqrt{3} + 1) \right) = \sqrt{1} - 1$$

$$\text{ب) } \frac{\sqrt{17} - 1}{1 + \sqrt{3}} + (1 - \sqrt{3})^{-1}$$

$$\frac{\sqrt{17} - 1}{1 + \sqrt{3}} = \frac{1\sqrt{17} - 1}{1 + \sqrt{3}} \times \frac{1 - \sqrt{3}}{1 - \sqrt{3}} = \frac{1\sqrt{17} - 1 - \sqrt{3} + \sqrt{3}}{1 - 3} = \frac{1\sqrt{17} - 1 - \sqrt{3}}{-2} = \sqrt{17} - 1$$

$$(1 - \sqrt{3})^{-1} = \frac{1}{1 - \sqrt{3}} \times \frac{1 + \sqrt{3}}{1 + \sqrt{3}} = 1 + \sqrt{3} \rightarrow \sqrt{17} - 1 + 1 + \sqrt{3} = \sqrt{17} + \sqrt{3}$$

$$\text{الف) } \frac{\sqrt{1 + \sqrt{3}} + \sqrt{17} - 1}{\sqrt{17} - \sqrt{1}} - 2 \rightarrow \sqrt{6} + 1 - 2 = \sqrt{6}$$

$$A^2 = (\sqrt{1 + \sqrt{3}} + \sqrt{17} - 1)^2 = 1 + \sqrt{3} + \sqrt{17} - 1 + 2\sqrt{17} - 1 = 2\sqrt{3} + 2\sqrt{17} \rightarrow A = \sqrt{2} (\sqrt{\sqrt{3} + \sqrt{17}})$$

$$\frac{\sqrt{2} (\sqrt{\sqrt{3} + \sqrt{17}})}{(\sqrt{17} - \sqrt{1})} = \sqrt{2} \times \frac{\sqrt{\sqrt{3} + \sqrt{17}}}{\sqrt{17} - \sqrt{1}} \rightarrow \frac{\sqrt{3} + \sqrt{17}}{\sqrt{17} - \sqrt{1}} \times \frac{\sqrt{17} + \sqrt{1}}{\sqrt{17} + \sqrt{1}} = (\sqrt{3} + \sqrt{17})^2 \rightarrow \sqrt{2} \times \sqrt{(\sqrt{3} + \sqrt{17})^2} = \sqrt{2} (\sqrt{3} + \sqrt{17})$$